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Table of Integrals
With the exception of exponent restrictions, antiderivatives in this table appear without conditions—some are valid 
only when appropriate restrictions on parameters (e.g., a > 0) and/or variables (e.g., x >1)  are applied.
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	 	 6.	 sin cosx dx x C∫ = − +

	 7.	 cos sinx dx x C∫ = + 	 	 8.	 sec tan2 x dx x C∫ = +

	 9.	 csc cot2 x dx x C∫ = − + 	 	 10.	 sec tan secx x dx x C∫ = +

	 11.	 csc cot cscx x dx x C∫ = − + 	 	 12.	 tan ln secx dx x C∫ = +

	 13.	 cot ln sinx dx x C∫ = + 	 	 14.	 sec ln sec tanx dx x x C∫ = + +

	 15.	 csc ln csc cotx dx x x C∫ = − +

Integrals with Expressions of the Form a + bx
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Integrals with Expressions of the Form a2 + x2
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Integrals with Expressions of the Form a2 – x2
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Integrals with Expressions of the Form x2 – a2

	 55.	
dx

x a a
x a
x a

C2 2

1
2−

=
−
+

+∫ ln

	 56.	 x a dx x x a a x x a C2 2 2 2
2

2 2

2 2
− = − − + − +∫ ln

	 57.	 x x a dx x x a x a a x x a C2 2 2 2 2 2 2
4

2 2

8
2

8
− = −( ) − − + − +∫ ln

	 58.	
x a
x

dx x a a x
a

C
2 2

2 2 1−
= − − +∫ −sec



TI-4  � �﻿ �﻿﻿ TI-4 Table of Integrals

	 59.	
x a
x

dx x a
x

x x a C
2 2

2

2 2
2 2−

= −
−

+ + − +∫ ln

	 60.	 dx
x a

x x a C x
a

C
2 2

2 2 1

−
= + − + = 





+∫ −ln cosh

	 61.	 x
x a

dx x x a a x x a C
2

2 2

2 2
2

2 2

2 2−
= − + + − +∫ ln

	 62.	
dx

x x a a
x
a

C
2 2

11

−
= 





+∫ −sec

	 63.	 dx
x x a

x a
a x

C
2 2 2

2 2

2
−

=
−

+∫

	 64.	 x a dx x x a x a a x x a C2 2 3 2 2 2 2 2
4

2 2

8
2 5 3

8
−( ) = −( ) − + + − +∫ ln

	 65.	
dx

x a

x
a x a

C
2 2 3 2 2 2 2−( )

= −
−

+∫

Integrals with Trigonometric Expressions
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Integrals with Inverse Trigonometric Expressions

	 84. 	 sin sin− −∫ = + − +1 1 21x dx x x x C 	 	 85.	 cos cos− −∫ = − − +1 1 21x dx x x x C
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Integrals with Exponential or Logarithmic Expressions
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Integrals with Expressions of the Form 2 2ax x−
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Integrals with Hyperbolic Expressions

	109.	 sinh coshx dx x C∫ = + 	 	110.	 cosh sinhx dx x C∫ = +

	 111.	 tanh ln coshx dx x C∫ = + 	 	112.	 coth ln sinhx dx x C∫ = +

	113.	 sech tan sinhx dx x C∫ = +−1 	 	114.	 csch ln tanhx dx x C∫ = +
2

	115.	 sech2x dx x C∫ = +tanh 	 	116.	 csch2x dx x C∫ = − +coth

	117.	 sech sechx x dx x Ctanh∫ = − + 	 	118.	 csch cschx x dx x Ccoth∫ = − +

Integrals with Inverse Hyperbolic Expressions
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	121.	 tanh tanh ln− −∫ = + −( ) +1 1 21
2
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Selected Definite Integrals
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